Q1 (24 points) Yu-I Peng

For each of the following 3 statements, you have to evaluate whether it is true or false, accompanied with consistent explanations. Each question is worth 8 points, including 2 points for T/F and 6 points for the quality of explanations. If your T/F is correct but the explanations are incorrect, the maximum you can get is 2 points.

a. If the demand for apples increases, the elasticity of demand for pears at the original pear price (the price that existed before the demand for apples increased) will likely decrease.
A complete answer has to include the 3 parts below. The distribution of grades is indicated by the red/bold fonts.
1) This statement is true. – 2 points
2) An increase in the demand for apples will increase the price of apples. Assuming that Pears are a substitute for apples, the increased price of apples will increase the demand for pears. – 3 points
3) A shift up and out of the pear demand will cause the elasticity to fall at any given price. – 3 points
Common mistakes:

· Some of you were on the wrong track in part 2) by saying that the increase in demand for apples will decrease the demand for pears due to their substitute relationship. ( 3 points taken off
· Some of you were in the correct direction in part 2) but asserted that the increase in demand for pears will cause the elasticity to rise. ( 3 points taken off
· Even if you went on the wrong track in part 2) but your answers in part 3) were consistent with what you got in the part 2) e.g., The shift down of the pear demand will cause the elasticity to go up at any given price. ( 3 points awarded
b. At some level of income and some price, each and every market good that a consumer is not endowed with must be a normal good.

A complete answer has to include the 3 parts below. The distribution of grades is indicated by the red/bold fonts.
1) This statement is true. – 2 points
2) The definitions of a normal good and/or an inferior good -- A normal good is one for which an increase in income causes in increase in demand (and consumption at a given price). – 2 points
3) When you have zero income, your consumption of market goods is zero. When you have some level of income, your consumption of market goods will become positive. Put simply, over some income rage (from zero to little bit higher), your consumption of every good will go from zero to a positive number, which, by definition, implies that every good is normal good over this income range. – 3 points
Common mistakes:

· I guess most of you didn’t get the question. Some of you just rephrased the question without answering at all. No point awarded for rephrasing the question.

· If you try to classify or make examples for normal and inferior goods, 0-2 points awarded depending on the accuracy of your definition for normal/inferior goods.

· Among (more than 200) students who answered Q1, only two students got the question and made correct answers.

c. Basic Economic Principles imply that people are less likely to vote as the population of the United States increases.

Your answer has to include the following 3 parts: 
1) This statement is true. ( 2 points
2) What is the basic economic principle applied here? -- Take an action if the BENEFIT exceeds the COST. ( 3 points
3) How does the decision to vote follow the basic economic principle mentioned above? -- One benefit of voting is the likelihood that an individual’s vote will influence the election outcome. The greater the population voting, the less likely a single vote will determine the outcome. ( 3 points
Comments:

You can’t just state “Take an action if the benefit exceeds the cost” without elaborating how this principle is applied to the voting decision. If you did so, your answer was worth a maximum of 5 points.
Question 2: Pisut

a. 8 Points

0-1 pt: 
True or False / no explanation or irrelevant answer.

2-3 pts: 
True or False / simple answer, just mention ‘law of demand’ or ‘elasticity.’

4-5 pts: 
True or False / ‘law of demand’ or ‘elasticity.’ tax rises and then price rises leading to a decrease in quantity demanded.

6 pts: 
True / ‘law of demand’ and elastic (inelastic) demand implies that an increase in price from an increasing tax is less (greater) than a decrease in quantity demanded. Thus, the tax revenue (not total revenue) falls (rises). 

6 pts: 
False / ‘law of demand’ and elastic (inelastic) demand causes the tax revenue to fall (rise). 

7-8 pts:
False / ‘law of demand’ and elastic (inelastic) demand implies that an increase in price from an increasing tax is less (greater) than a decrease in quantity demanded. Thus, the tax revenue (not total revenue) falls (rises).

Common errors:

· If demand is inelastic, when the price changes, quantity demanded won’t change.’

· If demand is elastic, when the price rises, quantity demanded falls. (This is the law of demand)

b. 8 Points

0-1 pt: 
True / no explanation or irrelevant answer

2-5 pts: 
True / mention preference / comparing right TE

0-1 pt:
Uncertain or False / no explanation or irrelevant answer

2-6 pts
Uncertain or False / mention preference / comparing right TE 

7-8 pts:
Uncertain or False / mention preference / comparing right TE  / don’t know her preference

Common errors:

· She is worse off from buying at the second store because she pays more ($6.60 > $6.40).

c. 8 Points

0-1 pt: 
True / no explanation or irrelevant answer

2-5 pts: 
True / mention benefits / costs from using the middlemen

0-1 pt:
False / no explanation or irrelevant answer

2-6 pts
False / mention benefits / costs from using the middlemen

7-8 pts:
False / mention benefits / costs from using the middlemen / using the middlemen only if benefits > costs

Q3: Rodica
3a)  If said True but explanation is wrong – 1 point.

If the solution involves the calculation of consumer surplus but the answer is wrong – 4 points.

If the solution involves the calculation of consumer surplus and the answer is correct – 8 points.

3b)  If said False and some other sentences but no good explanation – 1-2 points.

If mentioned False and that dollars have value because they are an intermediary in a trade – 4 points

If mentioned False and that dollars represent “other goods” and/or intermediary in a trade – 8 points.

3c)  If the answer involves only the explanation of basic needs as nonsensical – 4 points.

If the answer involves the explanation of basic needs as nonsensical and the notion of scarcity or substitution– 6 points.

If the answer involves the explanation of basic needs as nonsensical and the notion of scarcity and substitution– 8 points.

Common errors:

3a)  Calculating and comparing total expenditure instead of consumer surplus.

3b)  The mistake that dollars are used on the indifference schedule because they are a good themselves instead of representing the “other goods”.

3c)   As society gets richer it’s citizens basic needs increase.

Examples of good student answers:

Q3a) (No student example because it involves tables and calculations) A good approach was to calculate the consumer surplus in the case when Sam would shop at Joe’s market (CS = $10) and the consumer surplus in the case when Sam would shop at Loyal Shopper Club (CS = $11).  Since 11 > 10, choosing to shop at Loyal Shopper Club is the better deal.

3b) “False – there can be indifference schedules between dollars and a good because we use dollars as a common intermediary to trade for goods.  We will give up some to get more of another.  Dollars represent the goods that we could buy with those dollars.”

3c) “You cannot economically define “basic needs.”  There is scarcity and everybody wants more of everything including food, shelter, clothing, medical care and education.  Perhaps as people become wealthier they have more and they are willing to give up towards medical care and education.  But they may be substituting to have those instead of a bigger home or more expensive organic food.  There is still scarcity and choice.”

Question 4 Michael

a. Suzy takes longest
2 pts.

Explanation
2

Mary takes shortest
2

Explanation 
2

Basically, they got half points for knowing mary takes longest and half for knowing suzie takes the longest unless their explanations were lacking then they got somewhere in between.

Most people got this right, if they got it wrong but gave some kind of economic explanation for why it should be different I tried to give them a few points.

b.  You can’t tell
2

     he can’t afford the same bundle
1

     relative prices change
2

     he will substitute between goods
3

    If they just said they word substitute, they got one, if they indicated that it is due to the relative price change they got another one and if they indicated that it made them better off they got another one.  “he can’t afford the same bundle” was just a way to give a point to some people who got it wrong but I only gave it if they said “the same bundle” specifically (or something meaning that) not just “he can’t buy as much” or some such thing.  

Most people got this wrong, and I mean really wrong (as in zero points) just because they totally missed the point and said, something like “yes his standard of living goes down because his raise is not as much as inflation.”

c.  option a (or 8M, 12F)
2

     marginal value
3

     satiation
3

If they got the right answer and mentioned marginal value and satiation I gave them full credit (not many people did).  Basically they got 1 for showing they know what marginal value means, one for calculating them correctly, one one for mentioning satiation (or diminishing marginal value) and demonstrating they know what it means one for noticing that it doesn’t apply to all three options and one of each of the marginal value and satiation points were awarded for applying that information to get the right answer.  If they got the right answer and mentioned marginal value and satiation I gave them full credit (not many people did).  If they got the right answer but it looked like total luck they got 2.  Also, if they got the right answer and said it was because it was the average of the other two I gave half points since that fact does actually guarantee that they will prefer it given diminishing marginal value but I wanted them to mention why that is.  If they said it is “in between” or something like that they got three because that’s not exactly true but it’s better than nothing.  

Many people were very confused by this question.  They tended to write it as one indifference schedule and then treat it that way even though the question said that they were only indifferent between two of them.  They a lot of them could recognize that there was no diminishing marginal value but they didn’t know what it meant.  Also, a lot of people made statements like “he values meat more than fruit so he wants the one with the most meat” or “he will choose the one with the most total goods.”  Also a few people are still calculating marginal value wrong (quantity of one good divided by quantity of the other or something arbitrary like that).

Q5. Terry
a.

Below are grading guidelines, but grade also depends on reasoning quality.

a.1 (4 points)
If students do not recognize people have different preferences and willingness to substitute ( at most 2 points

a2 (4 points)
· Price ( 2 points

· In the way to maximize surplus ( 2 points

a3 (4 points)
· understanding shortage ( 1 point

· letting the price rise until quantity demanded = quantity supplied ( 3 points

Common mistakes:

a1: Attempt to define non-essential use by listing items from his/her point of view.

attempt to link essential use and basic human needs

a2: suggest survey; there’s no economic way to do so

a3: impose restriction on water usage

b. (6 points)
Below are grading guidelines, but grade also depends on reasoning quality.
· Reduced supply leads to increased price ( 2 points

· Relationship between total revenue and elasticity ( 2 points

· Corn farmers will be unambiguously better off ( 2 points

Common mistakes

· fungus will cause a “shortage” in wheat

· As corn is a substitute for wheat, wheat is elastic.

· Or, If wheat is elastic, consumers will substitute corn….

· Mix use of quantity demanded and demand

· Fail to link the elasticity and revenue 

· If the “price” is elastic….

· “Law of demand” states that when fungus impacts wheat, its price will go up.

c. (6 points)
Below are grading guidelines, but grade also depends on reasoning quality.

· Fail to recognize “having too much of some good” makes no sense. ( 3 points

· Why trade occurs ( 3 points

Common mistakes

starting reasoning from “having too much of some good”
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